12400 Ear Jones Way

e Louisville, KY 40299
rev-a-shelf.com
. . Customer Service: B00-626-1126

INSTALLATION INSTRUCTIONS

5730/5786 SERIES PULLOUT BASKET WITH SOFT-CLOSE

TOOLS REQUIRED:

(@)
®®

ESTIMATED ASSEMBLY TIME: PART LIST:

30 MIN

[;;! f" o’
%\S FOR BOTTOM
MOUNTING ONLY [‘g‘] FOR SIDE

MOUNTING ONLY

CARE AND MAINTENANCE:

Clean with a damp cloth and
wipe parts dry.

FOR DOOR MOUNTING ONLY @
INSTALLATION OPTIONS B - H 0 K
. i
Bottom page 2 0 aﬁ ' D i
Side page 4 . ) e |

(A) Basket, (B) Slide, (C) Side mount bracket, (D) Bottom Mount bracket, (E) Logo cap,
(F) Mounting bradket, (G) Door mounting bracket, (H) Double sided tape, (I) M4 x 6mm Machine screw,
(J) M5 x 6mm Machine screw, (K) M5 x 10mm Flat Machine screw, (L) 5/32 x 18mm Wood Screw

INSTALLATION INSTRUCTIONS: 5730/5786 SERIES PULLOUT BASKET WITH SOFT-CLOSE



